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õÜ&�õ<$� {$ æò$æû�ûÙ�æ$Í æÜÚ×$ ù�&$ Ñûõð ûõ�õÜ&�õ<$� {$ æò$æû�ûÙ�æ$Í æÜÚ×$ ù�&$ Ñûõð ûõ�õÜ&�õ<$� {$ æò$æû�ûÙ�æ$Í æÜÚ×$ ù�&$ Ñûõð ûõ�õÜ&�õ<$� {$ æò$æû�ûÙ�æ$Í æÜÚ×$ ù�&$ Ñûõð ûõ�õÜ&�õ<$� {$ æò$æû�ûÙ�æ$Í æÜÚ×$ ù�&$ Ñûõð ûõ�
Øíµ×� µ&�<æ�ù�.Øíµ×� µ&�<æ�ù�.Øíµ×� µ&�<æ�ù�.Øíµ×� µ&�<æ�ù�.Øíµ×� µ&�<æ�ù�.

µÿÿ ëæÜµÙ�ç×ð µûØ$õÝ< ù�æ Ýõ � æØù Ù÷À Ø$í] ûÍû$Ùù ëæÜµÙ�ç ÿèÚù� Ùý$µ÷ Àù Ô
Ù`ýÕ &{ù<Ùð àÿõØ<, õÜ&�õ<$� {$ æò$æû�ûÙ�æ$Î æÜ Ú×$<ÙÚù� Ñûõð ûõ� Ø$í] ù�Ùø$Îù�,
&�&�ö$ µ&�<æ×ù� &{ û}$õ� û$Ùù µ&�<æ×ù� û{õ ÷Àæ�<$ à`õ� &{ù <Ùð ÷À å<ùÔµè� ÿ$&Úæ
à$÷À$×ÿ è�ù µù$&Ùæ$ {ÚÆæÈ Ù`Ã× ×ÔõÝ×`� Øí× õ�Øó× æØ à`õ.

i ÿØó×æ� &Èýù�ø< à<ÿ�èÙ Ñ×÷ÀÈ &úÀ{$ ÿÔ÷ÀÙÚù� Ø`.2,000.00 æ� (µ÷À÷À{&æ�)

ii   &�<æ�× <$&&�ö$ù {`Øµè$&� ù|÷À| {Úõ<õÝù� &ÿê &{ &Ôþ&$øæ ÿø]&�ö$ù<Ù õ$<æ$ÙÚæ<
µ<µ&ù à<õ`ù� <Õ ù�Ùø$Î{Ô äµ&� à<õ`ù� <Õ �ù &Úð à$&ù�ù &ÿÕûæ$Ø &Æõ�×æ�ù�
Ùý$èõ {`æ� Ñ×ÙÚ &Ù$æ×æð {ÚÆæÿ Ùýõ�.  µÿ× µÿ$<Ôù�µè�ÿ <$&&�ö$ù<Ù ù`<õ
û��¥ æØ<$ {× ÿ&æ� èõµ<ù µõæ � Ùý$èõ {`æ �×.  û< ÔµÙ � &$ÿ$¬æ &�ç]$<
àùÔ< &õ�×æð &û×ùÔ Ùýù Ñ×ÙÚ &Ù$æ ûÜÿ$ó×ù� û{õ ÷À`æ�µ<ù &ð{µùù� ÷`æ�µÓ.

  û<ÔµÙ� &�ç]$< Ùý$èõ {`æ� &Ù$æ<Ù <®ù$æÿ
   (Ø`ûÚ×Ù�)

1 55
2 85
3      105
4      125
5      155
6      170
7      185
8 ù� á{}      200

02 µÿÿ ëæÜµÙ�ç× ûÜõ�&�&�æØó, ûÔùØ`õ�ö$ûù {$ &ÿ$í &Ôþ&$øù àÿ$õ]$�Áµ×� äæêõ�<× à`õ�< ù�æÝõ�
æØù àõØ, µÿÿ ëæÜµÙ�ç× æÜÚ×$õ�ÿæ æ�Îÿ &Èýù�ø< à<Á] <`òûÚ}Úµ<Ù äÿ àÿ$õ]$�Á× Ñ&Úù� &æ&� æØùÔ à`õ.
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   Ø$í] ûÍû$Ùù, û}$õ� &þ$ {$ &�<µ÷À�Á æð×ÔõÝ
    àÿ$õ]$�Á×.


